Counting by 5s
(J Count by 5s. Fill in the blanks.

5, 10, 15, 20, 25, ;

5, 10, 15, , 25, 30,

40, 45, 50, 55, 60, 65,

25,30, 35,40,
10, , 20 40, , 50
30,35, 10,15,
q0, , 100 55, , 65
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35, 40

35, 40

____, 75, 80
75,80,
70, , 80
65, , 75
30, , 40
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Counting by 5s and Is

(J Group by 5s and then by Is.
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5,10, 15, 16
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Bonus
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(J Count by 5s and then by Is to see how many.
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Counting by 2s

() Start at 2 and count by 2s.
() Colour the numbers that you say.

|l 2|3 |4 | 5|6 |7 8| 9|I0
{12113 |14 |15|16 |17 |18 |19 |20
21 |22 12324252627 |28|29 |30

(J Count by 2s. Fill in the blanks.

2, 4, : , 10,
12, |4, 16, , 20,
22, : , 28, 30
2, 4, 6, 3, ;
12, : : 18, 20,
22, 24, 26, : :
: , 36, , 40
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Doubles and Skip Counting

() Add to double the number.

0+0= | + 1 = 2 +2=

3+43= b+ 4= 545 =

How did you add?

() Draw the same number of dots.
How many dots are there altogether?

o000

The double of3is 6
00O
eo0o0 o0
The double of 4 is :
o0

The double of 2 is :

0000

The double of 5 is :
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() Write the numbers above the number words.
(] Solve the problem.

3 3
Three bears are brown. Three bears are white.

How many bears altogether? __ 6

Jen has four cars. Marko brings four more.

How many cars do they have now?

Five children are playing. Five more join them.

Now how many children are playing?

Kate sees eight seals and eight birds.

How many animals does she see?

Zack is two years old. Don is double that.

How old is Don?
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